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O main(){ int1, , k. printf("\n"). for(i=1. i for(J=1. j for(k=1. k { if(i
I=kamp.i!=jamp.j!=K) /00100 kO OO00OO00O */
printf("%d, %d, %d\n",i,j, k). } 0 0020000000000
DJo0o0oooooomooobooooooood
D10l ododoliogoooooboooologoooo
0100000010000 0000007.5%0 200 O 400
Jododobo20000000005%0400 0600000
Jo400000000003%060001000 00000060
OJO0000000015%000100000000100000
O0O01% 0000000000 oooooood
J1.00000000000000000o0ouooooo
Jo0ododod 200000 0man(){long inti. int
bonusl, bonus2, bonus4, bonus6, bonus10, bonus. scanf("%ld",
amp.amp.year, amp.day). switch(month) 0 00 O 0 0O O O O
O 00O 0O */{case 1. sum=0. break. case 2: sum=31. break. case 3:
sum=59. break. case 4: sum=90. break. case 5: sum=120. break. case
6. sum=151. break. case 7: sum=181. break. case 8: sum=212. break.
case 9: sum=243. break. case 10: sum=273. break. case 11: sum=304.



break. case 12: sum=334. break. default: printf("data error").break. }
sum=sumday. /00000000 *if(year @0 ==0| (year %
4==0amp.year% 100!=0)) A0 000 0O OO */leap = 1. else
leap = 0. if(leap==1lamp.month>2) 000000000
O2,00000000 *sum. printf("It is the %dth day.", sum).}
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